Freedom Arm™ Instructions
FDM-HD-SO01

Ergotech Group, LLC.
100 Kuebler Road
Easton, PA 18040

ERGOTECH

877-523-2767 INNOVATIVE ERGONOMIC SOLUTIONS

www.ergotechgroup.com



M-B

Contents VA

Part# | Qty Description
1 1 Arm Set
2 1 Desk Clamp Base P-A m
Monitor Kit vA
Part # Qty Description
VA |4 [ M4 T5mm Philips Screw P-B ::@
4 M4*30mm Philips Screw
M-B 4 M5*15mm Philips Screw
4 M5*30mm Philips Screw D
M-C 4 | 5mm Spacer = Q
4 10mm Spacer
P-C P-D
Product Kit vA (Spare)
Part# | Qty Description
P-A 1 2.5mm Allen Wrench
P-B 1 Adjustable Wrench
P-C 2 M5*5mm Socket Set Screw
P-D 1 Fixed Clip (Spare)
P-E 1 Arm Support Block
PF T | Adjustable Arm Axle Sleeve P-E P-F

P2




I~

f——

M-A or M-B
( For selection to fit different monitor )

M-C
S ( Use either 5mm or 10mm spacer )
-l
-l

Lock tight the knob
on the edge of desk




Loosely secure screw (P-C)
in position

Check if the fixed clip is fell off ,
use spare kit (P-D) to install .

P-F

The gap should be on the opposite
side to Fixed Clip(P-D)

Tighten screw (P-C )




of your mount.

st the tension

To adju

P5





